Word Problems Lesson MPM2D Mr. Singh

Solve the triangles!

In AABC, 2 B=90°, c=5cmand a=11cm.
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In ADEF, £F =90°, ZE=23° and f= 82 m.
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Find the height of a tree to the nearest metre given the tree's
shadow is 14m and the angle to the top of the tree from the ground
is 259,
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Ex. 1 A searchlight is mounted at the front of a search and rescue
helicopter. The pilot is flying the helicopter 150 m above the
ground and the beam hits the ground at 70? from the horizontal.
The beam spreads out at an angle of 5%, How wide is the beam
when it hits the ground?
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Ex3 From the bridge of a boat on the Niagara River, the angle of
elevation of the top of the Horseshoe Falls is 64°. The angle of
depression of the hottom of the Falls is 6°. If the bridge of the
boat is 2.8 m above the water, calculate the height of the
Horseshoe Falls, to the nearest tenth of a metre.
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